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For the Instructor

Goals
A) Increase options for students to

actively participate in class.
B) Mine student input to provide more

informed guidance

Technology

1) Prepare Lecture in LectureTools
- Upload slides as PowerPoint® or PDF file.
. Add interactive questions and videos.
- Hide selected slides if desired.
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2) Present Lecture

Show slides/videos

- Reveal questions/hidden slides as desired
- Display results from student answers

View student questions

3) Violal

. Students' notes and questions are parsed
and mined for keywords and phrases.

. Feedback provided to instructor on what
students heard and noted.

. Students'receive “Lecture Cloud” of words with
inkages to questions and resources.

4) Review Participation
- View attendance
- Review student questions
- |dentify slides students found confusing

Perry Samson [samson@umich.edu]

For the Student

1. Take notes linked to slides
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September 28, 2012 ~ Q

Air spirals into hurricanes in a country-clockwise manner in Northern
Hemisphere. Hot towers act to enhance vertical assent in the eye wall.

Pad = 10:37 AM

o 4

Other Questions (34)

AQSS 102 April 9, 2012

k| why is the eye dangerous?

. Can you, if possible, pile up common good points for everyone
i | asap for those of them who cannot attend a commeon good
session today?

| why are hurricanes calm in the middle but tornadoe
./ strongest in the middle?

1 | can not differentiate between hurricang and torno: ‘ )))
[ |

Somebody please help me.
= | Why is it stronger in the east, again?
it didnt let me answer that one

. | why would it be at the right of the eye for the greatest storm
_J surge ?

Is the reason why it is faster on the eastern side the same as
1 the why a tornado going northeast is strongest on its

Ask a Question
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Mining Products

Word clouds by lecture

SESSIONS

Select session for more detall

Wed, Apr 17, 2013
Weather in Cinema

Mon, Apr 15, 2013
Tornadoes IT

Fri, Apr 12, 2013
Tornadoes

Wed, Apr 10, 2013
Derecho and Downbursts

Mon, Apr 8, 2013
Lightning

Fri, Apr 5, 2013
Weather Forecasting

Wed, Apr 3, 2013
Thunderstorms

Mon, Apr 1, 2013
Heat of the Day

Fri, Mar 29, 2013

Anticyclogenesis and Heat Waves_.

Wed, Mar 27, 2013
Linking the Jet Stream to
Cyclogenesis

Mon, Mar 25, 2013
The Role of the Jet S5tream

Fri. Mar 22, 2013
Cyclogenesis
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Polling Open

What atmospheric phenomenon do you think could cause the greatest
disaster?

g CEL
Hurricane
Tornado

Lightning

Flooding
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Test your understanding of "diverger ce"

Question 1155 [Chapter 10.3]

Q. Net convergence of air would cause surface pressure to

pressure to

increase, decrease
increase, increase

(= decrease, decrease

and net divergence would cause surface

away from the center of a surface high. If a closed

high or ridge lies directly over the surface anticyclone,
divergence (the spreading out of air) at the surface will
remove air from the column directly above the high. The
decrease in mass causes the surface pressure to fall and
the surface high-pressure area to weaken. Consequently,
it appears that, if upper-level pressure systems were
ahways located directly above those at the surface (such
as shown in Fig. 10.6), cyclones and anticyclones would
die out soon after they form (if they could form at all).
What, then, is it that allows these systems to develop and
intensify? (Before going on, vou may wish to read the
additional information on convergence and divergence

THE ROLE OF CONVERGENCE AND DIVERGENCE
For mid-latitude cvclones and anticyclones to maintain
themselves or intensify, the winds aloft must blow in such
a way that zones of converging and diverging air form. For
example, notice in ! Fig. 10.7 that the surface winds are
converging about the center of the low; while aloft, directly
abowve the low, the winds are diverging. For the surface low
to develop into a major storm systemy, upper-level diver-
gence of air must be greater than surface convergence of air;
that is, more air must be removed above the storm than is
brought in at the surface. When this event happens, surface
air pressure decreases, and we say that the storm system

is intensifying or decpening. If the reverse should occur

Question 2764

The term "divergence" is discussed on page 276 of Extremme Weather and Climate.

Check out the following resources to learn more about 'divergence’:

decrease, increase

Submit your answer

L3

Your choice is incorrect.

B |LectureBook W| Wikipedia 4 Khan Academy
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& Google B Bing

given in the Pocus section below) {more air flows in at the surface than is removed at the top),
surface pressure will rise, and the storm system will weaken

and gradually dissipate in a process called filling.

FOCUS ON

A SPECIAL TOPIC

\ A Closer Look at Convergence and Divergence

& lenow that convergence Is the piling up of air above a region,
X/V while divergence is the spreading out of air above some _
| reglon. Convergence and divergence of air may result from changes in
wind direction and wind speed. For example, convergence occurs when - * e
moving alr is tunneled into an area, much in the way cars converge b : __1"‘ ! 5 =
when they enter a crowded freeway. Divergence occurs when moving WM"'-—-_ e
alr spreads apart, much as cars spread out when a congested two-lane K |
freeway becomes three lanes. On an upper-level chart, this type of con- Tr-a—i ff‘.—.
vergence (also called confiuence) occurs when contour lines mowve closer ; & / . .k
together, as a steady wind flows parallel to them (see the upper-level
| chart in Fig. 3). On the same chart, this type of divergence (also called
| diffluence) occurs when the contour lines move apart as a steady wind i
flows parallel to them. Notice that below the area of divergence lies
the surface middle-latitude cyclonic storm. Figure3  The formation of convergence (CON) and
Convergence and divergence may alse result from changes In divergence (DIV) of air with a constant wind speed
wind speed. Speed convergence occurs when the wind slows downasit  (indicated by flags) in the upper troposphere. Circles
| mewies along, whereas speed divergence aceurs when the wind speeds up. represent air parcels that are moving parallel to the
\ We can grasp these relationships more clearly If we imagine air mal-
ecules to be marching in a band. When the marchers in front slaw
down, the rest of the band members squeeze together, causing
convergence; when the marchers in front start to run, the band

members spread apart, or diverge.

contour lines on a constant pressure chart. Below the
area of convergence the air is sinking, and we find
the surface high (H). Below the area of divergence
the air is rising, and we find the surface low (L).
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